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Introduction to 'nTs Y72 — rav g

This chapter is a turning-point in the naon; having dealt with preparations for naw (pp>m nna etc.) and
expanded study of laws governing “carrying” (especially in the previous 2 chapters), general rules of liability
for naw %5n; - specifically with an eye towards nxon 127p avn for violation of naw if done »mwa - are laid
out in the first mwn, which are then expounded over the next 5+ ma1. The next mwn presents the canonical
list of 39 marYn mar and that will return us to issues relating to nk¥1n, which will be the focus of study (with
significant tangents) through the 11* chapter
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L x mwn: Categories of mw for naw
a. If he forgot the essential institution of naw and did multiple maxYn over many mnaw — liable for 1 nxron
b. If he remembered the essential institution of naw and did (as above) — liable for 1 nxvn for each naw
c.  If:he was aware that the day was naw and did (as above) — liable for each naxYn ar (limit 39)
d. If: he did many marn which are all subsets of one naxYn — only liable for 1 nxvn
II.  Analysis of rhetoric — "1 992"
a.  Suggestion: ")y 993" used here (and in R:t nY»av) is used

i. Because: in each case it is followed by "InR %93 T»” (1 N1w, 2:1 NYY2V)
ii. However: mnwyn uses "INR 593 )" (R:R MIwyn) without ever using "5 555”
iii. 223N 72 20p 1. N2v and YA have MTom mar 2used "7 Y937, mIwyn has none >no ™11 993"

1. challenge: according to ®1ap 73, who reads "1 955" in mwyn (R:X?) — how will he explain it?
b.  Rather: these 3 are hierarchically linked:

i. naw. is more severe than n'y»aw (applies to w19n as well as 121nn)
ii. raw: is more severe than mawyn (Mawyn only applies to human food)
iii. vy (according to X797 73): are more severe than nRa (compare T:X nRa with R:X nwYn)

III.  Dispute YR1n0w1 29 vs. Y"awm Ny "1 regarding level of ignorance of 1% group (liable 1 nxvn for all)
a. SN a7 referent -one who never knew about naw (e.g. baby raised — or person converted — among non-Jews)
i. Challenge:1% group is defined as naw 1’y N2, implying that he once knew
1. Defense: 21w means that it was “forgotten to him” i.e. he never knew
2. Implication: if he knew and then forgot naw 7’y — would be liable 1 for each “forgotten” naw
a.  Challenge: should add that to 2" clause (“he knew and forgot, and all the more so if he knew...)
b. Answer: phrase defining 2"! group — naw 7y Y1°n means that he once knew about naw
c.  Implication: if he currently knew about naw 9y, he’d be liable for each narn ar
i. Challenge: should have included that in 3 clause — and v”p to a case where he knew the day
ii. Rather: the 1% group is one who knew about naw and then forgot (as we read it)
1. But: 5®mw 11 extend that grouping to one who never knew
b. 57w »77. 1%t group is only one who originally knew
i. But: one who never knew (e.g. nawiv pn) is fully exempt
ii. Challenge: xn»a explicitly uses nawiw prn etc. as an example of our 1% category
1. And:heis liable 1 (each) for all o7, all 29n and all 1y he may have violated
2. Dissent: 1ann declares him to be exempt;
a. ranm argued before ™1 that 7 is compared to v (vv. 1-2)
i Just as: T originally knew, same with aw
ii. 7237 vv. 1-2 compared to v. 3 — "y becomes the model:
1. Model: any n7°ap which carries n13 if done 7°1na requires n»1ap nron if done amwa
b. 77 if so, why not demand that he know when he violates (this is now *1m”)?
c.  ranm accepts this definition as well (discussion follows)
iii. Answer: 5"avM 7 are following rann
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